N & 0l & AFSE H Al A
2023 20il4F LBHS|IH XtEHH
SA: XtEH
H: HH2AAH|(XHEH)
chel: Jl2Ad| (CHl: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
P! 332,380 328,840 3,540
Y2 ZHI(XHEH) 84,450 80,950 3,500
[=2ZHl 84,450 80,950 3,500
J|12&l 84,450 80,950 3,500
201 et 3| 45,810 45,070 740
01 AtR2elt] 24,310 23,570 740
Oget=2H| 24,310
0I|E2AMRESHI 100, 0002 % 140! 1,400
OAFRD1D] & HAMLARE 6,000,000 6,000
OJIEt2ZHI 6,000,000 6,000
025 A A2EFL
150, 0002 *10IH & 1,500
0Y=2| 30,0002%101x152 450
SICHYRFE A
8,000& *14021x804! 8,960
02 S3229H] 21,500 21,500 0
0323232 ¥ HMAl 12,000
0RER= 2,000,000 2,000
0&JIR=S 9,000,000 9,000
=== 2 MASU3 1,000,000 1,000
OdzH] 1,000,000 1,000
OF=VAINF=E=INI ] 2,500,000 2,500
OXt&=Xd| 6,000,000 6,000
202 o4t 38,640 35,880 2,760
01 =LY 38,640 35,880 2,760
OJ|=2gR+~0t|
200,00021%1401x 128 33,600
OZS0| 30,0002 %1421+ 128 5,040
HHYTX2H(XHEH) 10,160 10,120 40
PAEEZH 10,160 10,120 40
ol 2HA| 10, 160 10,120 40
203 HPF=&| 10, 160 10,120 40
01 J|2A2FARFNH| 6,600 6,600 0
OJ|2A2ZHAR=E 6,600,000 6,600
02 FRAINAREXIY| 560 520 40
OFRINNAR =T 40,000& % 140! 560
04 EA2IHRFEHI 3,000 3,000 0
ORN2IYRFZ 250,000 * 122 3,000
s 2 107,770 107,770 0
ScBARI 2| 101,770 101,770 0
scltryassE 101,770 101,770 0
301 LBIEEZ 101,770 101,770 0
07 SZ - 0% - BHEEs2Eaa 101,770 101,770 0
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